OO0pazoBarenbHbIIl MUHUMYM TI0 anreope
JUISL ydamuxcs 8-X KJ1accoB
I uerBepTH

. Beruucnuts (23,79:7,8 — 6,8:17)-3,04 — 2,04-0,85=
4
. IpencraButs 1poOb 9 B BHJIE JSCATHYHOMN ApoOH ¢ TOUHOCTHIO 10 0,01

7
. 3ammcars B cTaHIapTHOM BHje yuciio 58 780; 0,0075; 3@

1
—+3,79:0,34
. Berunciuts ¢ TouHocTh 10 0,01 3HaueHue BhIpaxkeHUs: 0,48
. OKpyIJIUTB:

22,888 1o necsartkoB; 25,378 10 COTHIX.

. Pemmmts ypaBHeHue:

a) c(c+2)=0

6) (a+4)(2x-3)=0

a)49¢* - 16=0
1+2x ~0

6) 2x—5
xX'—4_

B) x—2 =0
X 3—x_

r) E+ —2,5

dila—1]=2,8 .

el |4a—08]=2

. Pemnts HepaBeHCTBO:
a) 14 -15¢> 0;
6) 2x-723(x+2)

3—x

X <2

B) 4 2

r) |a—1|£2,8;
4a—0,8]>2

1) |4a—0,8|

. Pemnts cucremy HEpaBeHCTB:
2x—13>0

a) [25—4x>0



11-2x<10—-3x

0) |4x-1323x-10
5a+3<3a-7
B) 1-2a>a+4




